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How Was the
Test? @

.. Bring It All Together:
“» Solve one-step equations on your own
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1.  Draw an “X” through the example that does not belong. Justify your answer.
a) b)

X+4=8 X-4=3 K\
. y &y

c) d)

3x-3=3 m y=3x+1 C=10t+ 1
y ( p=2/+2w

2. Answer True (T) or False (F). Be prepared to justify your answer.

a) Every equation has exactly two sides.
b) Every equation has one equal sign.

c) Every equation has one variable.
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WWW.TAPINTOTEENMINDS.COM

When playing the game, we are actually solving equations!

Two sides

And here

The BOX represents the variable to be ISOLATED (i.e.: by itself).
Dragon cards represent other variables and dice are numbers.
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Visual Representation Numerical Representation
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Algebraic Representation

If you add a card from the deck, be
sure you add a card on BOTH sides.

SAME AS

SAME

SAME AS
SAME AS




Unit 6 - Multiple Representations of Linear Relationships
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6.2: Steps to Solving Equations

Steps:

1. Get all variable terms on one side of the equation (equal sign) and all constant
terms on the other side. Shortcut — Switch the side means switch the sign.

2. Simplify both sides by adding/subtracting like terms.

3. Divide both sides by the coefficient ( the number in front of the variable term).

Task #1: Solve the following equations.

3x-5=10

4x-3=17

18 + 5m = -57

12m - 36 =-180



o Recall Linear Equations From Last Unit

%“% RECALL & RECAP WWW.TAPINTOTEENMINDS.COM
|

Taken from Sec. 5.9] Answer the following questions by solving the equation in each
R 4 situation.

1. Rentinga car for the weekend costs$80 | @) HOw much would it cost if you drove
plus $0.16/km. 250 km over the weekend?

=5D+0.lkd
( %
[ clklmq!.

b) How far could you drive if you could
only afford a bill of $100 total for the
weekend?

a) How far would the race car have travelled aftera |2 nggﬁfnghaf\t;’a;els ata Cogsﬁ"t?ﬁe?d tglf
H 2 . Vvrite an equation ror the 1o
2.5 hour race at this speed? distance travelled over time. O Km niffa |

A =220t

b) How long would it take for the car to travel 815 km?
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a) How much would the vehicle be worth after 8 3. i
years? Depreciated Value of a Mid-size Car
o EE2
o
> 12000
. . i ui 16 i
b) How old would the vehicle be if the value was woe ] 5 P
$22,500? - z 04
" age ot vanicla Years)
V = 30,000 - 2,500y
a) How high would the balloon be after 5 minutes? 4.
Height of a Balloon
RN

b) How long would it take for the balloon to drop to
3m high?

. B

N,

N

1 2 3 45 67 8 9% %

H=I5-2at
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a) How much would it cost for a 32 km taxi trip?

Distance |Costofa Taxi
~ (km) O Fare ( ¢
h< 10 6.50 §>;
(b 20 9.50 4
30 12.50
40 15.50
S0 ’18_50
Riew 72 _T0.30 .
Ban  |0fm | Km

b) How far could you travel if you had exactly $507? c — 3‘ 5 0 .I.—o .6 D\

a) What would the cost be for a 1,600km o W st of Bus |70
trip? o<t (km)O | Charter ($) \Up
> 100 210
S0 50 P10
\» 300 290 4o
I®<F 200 330 40
500 370 Y0
b) How far could you travel if your ?Ak( " C‘W _R\kﬁ- “J = M
budget was $850? n ’%ﬂ I““-

C =170+ 0.4d



Solving Equations (Continued...)
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14 =6 + 2x

165 =-11d + 22 4m +3=-73

4a+4=0 3+5m=-22




6.3: The Equation Game

Solve each equation. Check your answer.

3x-2=4 4x+1=-7

4=2+2a 3-b=-2

Ax+1=-3 3t+6=9




